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dtimE (PpEUMY X 19,517 19,517 19,517 2,475.72 2,475.72 18,588 105.0 245 89 1.1
iEE (EF1258 (2K 19,493 19,493 19,493 378.00 378.00 18,565 105.0 22.1 47 2.2
JtifEE [£55397 Alth X 20,476 20,476 20,476 7,950.96 7,950.96 19,501 105.0 19.7 141 1.0
= To2nEY X 21,390 21,390 21,390 648.00 648.00 20,371 105.0 125 28 1.0
= Lo20FFEN EHh[X 20,012 20,012 20,012 1,080.00 1,080.00 19,059 105.0 18.1 42 1.1
= DhBEESDH (2R 21,375 21,375 21,375 1,047.60 1,047.60 20,357 105.0 15.6 41 1.0
BF |YYy=—ix Alth X 22,226 22,226 22,226 2,592.00 2,592.00 21,168 105.0 145 56 1.0
EF |hETFL (2R 22,076 22,076 22,076 2,678.40 2,678.40 21,025 105.0 14.9 62 1.0
B2F |0EHEN X 22,781 22,781 22,781 1,814.40 1,814.40 21,696 105.0 13.4 56 1.0
(=5 b ey g Alth X 23,079 23,079 23,079 9,072.00 9,072.00 21,980 105.0 8.6 108 1.0
B |[0EDHIEN X 22,781 22,781 22,781 4,060.80 4,060.80 21,696 105.0 20.6 133 1.0
AR (Y= x Alth X 22,385 22,385 22,385 2,246.40 2,246.40 21,319 105.0 228 88 1.1
ME (HEFECFES (2R 22,828 22,828 22,828 11,728.80 11,728.80 21,741 105.0 13.2 171 1.0
Wz | =% A pE 21,922 21,922 21,922 2,397.60 2,397.60 20,878 105.0 27.9 112 1.1
1T} 7 [ oA} :{A A B 21,319 21,319 21,319 399.60 399.60 20,304 105.0 17.6 39 1.1
Wiz [EFALEHL R pE 22,050 22,050 22,050 1,177.20 1,177.20 21,000 105.0 10.0 40 1.0
Wz [Tz shE RIfE 22,050 22,050 22,050 2,062.80 2,062.80 21,000 105.0 12.6 56 1.0
FER |y =iF EHh[X 22,268 22,268 22,268 2,905.20 2,905.20 21,208 105.0 24.6 118 1.0
ER | EFALM X 22,050 22,050 22,050 615.60 615.60 21,000 105.0 8.7 20 1.0
ER |[FxshE EHh[X 22,050 22,050 22,050 1,468.80 1,468.80 21,000 105.0 15.0 44 1.0
22 [3aEAHY EHh[X 23,766 23,766 23,766 5,000.40 5,000.40 22,634 105.0 14.4 99 1.0
EE |- F Alth X 22,337 22,337 22,337 1,123.20 1,123.20 21,273 105.0 12.4 31 1.0
B |HE X 21,803 21,803 21,803 2,062.80 2,062.80 20,765 105.0 18.6 77 1.1
BE  |UEHIEN S Hh[X 22,781 22,781 22,781 3,024.00 3,024.00 21,696 105.0 13.5 73 1.0
EH |[aveny S Hh[X 23,000 23,000 23,000 2,933.70 2,933.70 21,905 105.0 16.6 85 1.0
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ItiEE |wEushY | £ 19,705 19,705 19,705 2,023.92 2,023.92 18,767 105.0 12.8 44 1.0
iEE |EF 1258 |2 19,737 19,737 19,737 522.00 522.00 18,797 105.0 46 10 1.0
bimE |E55397 | AR 20,635 20,635 20,635 3,939.48 3,939.48 19,652 105.0 17.4 83 1.0
FH  |([LorkY (&R 21,434 21,434 21,434 367.20 367.20 20,413 105.0 28.7 60 1.8
FH |[LoFFEN (2R 19,743 19,743 19,743 885.60 885.60 18,803 105.0 8.7 24 1.0
BEH |00 ED| R 21,413 21,413 21,413 453.60 453.60 20,393 105.0 314 65 15
2F (VU =iFx AR 22,172 22,172 22,172 691.20 691.20 21,116 105.0 29.2 62 1.0
BF |HEIFL | 2K 21,921 21,921 21,921 734.40 734.40 20,877 105.0 28.7 65 1.0
AF |(VEDHIFN (2R 22,868 22,868 22,868 486.00 486.00 21,779 105.0 36.5 76 1.7
B (YU AR 23,265 23,265 23,265 3,304.80 3,304.80 22,157 105.0 105 66 1.0
= |DEDHIEFENR | 2R 22,868 22,868 22,868 1,231.20 1,231.20 21,779 105.0 37.6 100 1.1
mE (Y= ix [AEK 22,431 22,431 22,431 1,760.40 1,760.40 21,363 105.0 27.7 87 1.1
A |HhEoFES (2R 22,952 22,952 22,952 8,478.00 8,478.00 21,859 105.0 11.6 158 1.0
Wiz |H =& | AiE 21,974 21,974 21,974 1,080.00 1,080.00 20,928 105.0 17.4 57 1.0
Wiz |08 | AE 21,414 21,414 21,414 216.00 216.00 20,394 105.0 30.7 62 3.1
Wiz |EFALS | ARE 22,134 22,134 22,134 518.40 518.40 21,080 105.0 36.9 79 1.6
Wiz |[FxshE ] 5= 22,134 22,134 22,134 799.20 799.20 21,080 105.0 26.9 57 1.0
EARA (Y =iF% (&R 22,367 22,367 22,367 2,106.00 2,106.00 21,302 105.0 16.7 72 1.0
ER | EFALELD |2 22,134 22,134 22,134 442.80 442.80 21,080 105.0 28.9 65 1.6
EAR  |[ZZh=E 2K 22,134 22,134 22,134 1,058.40 1,058.40 21,080 105.0 31.3 84 1.2

EE |YE iy 21,851 21,851 21,851 626.40 626.40 20,810 105.0 10.9 23 1.0
EEH |[aveny 2 X 22977 22,977 22,977 1,354.02 1,354.02 21,883 105.0 21.0 66 1.1
BE [\ E A X 22,121 22,121 22,121 1,328.40 1,328.40 21,068 105.0 22.7 66 1.1
#E |BAE FARIA 21,114 21,114 21,114 1,479.60 1,479.60 20,109 105.0 24.1 69 1.1
EE |[BXE LR 21,131 21,131 21,131 1,447.20 1,447.20 20,125 105.0 37.1 105 1.2
BR |VvvEhH) |[£#HER 21,586 21,586 21,586 993.60 993.60 20,558 105.0 238 59 1.0
B |BAE 2 X 21,021 21,021 21,021 658.80 658.80 20,020 105.0 13.7 30 1.0
B (7R LR 20,896 20,896 20,896 1,231.20 1,231.20 19,901 105.0 20.3 54 1.0
mEl |8 2K 22,283 22,283 22,283 723.60 723.60 21,222 105.0 12.1 29 1.1
Wl |[aveHY £ X 22,553 22,553 22,553 907.20 907.20 21,479 105.0 242 58 1.1
1T = R a7 Ly D25 1] 3 20,865 20,865 20,865 874.80 874.80 19,871 105.0 240 56 1.1
A |vveh) | 2K 21,362 21,362 21,362 853.20 853.20 20,345 105.0 10.3 23 1.0
=@ |e/EHY LXK 21,526 21,526 21,526 1,026.00 1,026.00 20,501 105.0 270 67 1.1
®E |e/EHY £ X 21,500 21,500 21,500 745.20 745.20 20,476 105.0 11.6 27 1.0
e E/EAHY LR 21,983 21,983 21,983 1,371.60 1,371.60 20,936 105.0 30.8 86 1.0
X |e/ERY LR 21,613 21,613 21,613 496.80 496.80 20,584 105.0 10.6 22 1.0




